ACP Statistics Summer Packet

Have this packet completed for the first day of school. These are a few important and
fundamental skills for this class. There are examples for each skill for you to follow.
This will count as your first grade of the year. Enjoy!



Summation Notation
This may be new for you. Take a look at the examples and complete the three problems.

5 1
Example 1: ) 3k Example 2: ) k’
[ o |
Solution Solution
3(1) + 3(2) + 3(3) +3(4) + 3(5) = 124224324 42= 1+44+9+16=30
3+6+9+12+15=45

Directions: Evaluate each expression. Show work.

11

A D .(2k-7) Answer:
lf e d

B. Z[Sk' - 3k) Answer:
k=1

10
C. D (4k* =2k +8) Answer:
k=l



Slope of a Line

| 2
Slope Formula: m= "~

I._! _II

Example 1: Find the slope of the line that
passes through (1, 2) and (3, 4).

Solution
-4

1-3

B

=1

ral

Example 2: Find the slope of the line that
passes through (3, 6) and (1, 8).

Solution
B-6_2 __
1-3 =2 1

Directions: For the problems below, find the slope of the line between each of the two
given points. Show work. Write your answer in simplest form.

A (1,5) and (7, 8)

B. (-5,9) and (5, 11)

C. (12,13)and (7,13)

D. (-8,2) and (-8, 7)

Answer:

Answer:

Answer:

Answer:




Venn Diagrams

Example 1: Out of forty students, 14 are
taking English Composition and 29 are
taking Chemistry. If five students are in
both classes, how many students are in
neither class?

Solution

Chemistry

24

Two students are taking neither class.

Example 2: Out of forty students, 14 are
taking English Composition and 29 are
taking Chemistry. If five students are in
both classes, how are in either class?

Solution

Chemistry

24

There are 38 students in at least one of
the classes.

Directions: Create a Venn diagram to display the information then solve.

A. In a class of 87 students, 40 take Chorus, 53 take Band, and 16 take both Chorus and
Band. How many students in the class are not enrolled in either Chorus or Band?




B. In a school of 800 students, 185 students are taking Spanish, 160 students are on

sports teams, and 72 students participate in both activities. How many students don't
participate in either activity?

C. A wveterinarian surveys 46 of his patrons. He discovers that 17 have hamsters, 21 have
guinea pigs, and 19 have birds. Eight have hamsters and guinea pigs, and 5 people have
a guinea pig and a bird. Seven have hamsters and a bird, and of these, 3 people have a
guinea pig. How many patrons have none of these pets?



Writing Equations of Lines

Slope-Intercept Form

Slope Intercept Form: y=mx+b

Example 1: Find the slope of the line that
passes through (1, 2) and has a slope of 5.

Solution

Plug in the slope (m) and point (x, y), then
solve for b:
y=mx+b
2=5(1)+b
2=5+b
-3=b

Now takem=5and b =-3. Plug them in
to write your equation in slope-intercept
form:

y=5x-3

Example 2: Find the slope of the line that
passes through (1, 4) and (3, 10).

Solution

Find the slope first: 10-4.5

=3
3-1 2
Use the m = 3 and any point and plugitin
to solve for b:

y=mx+b
4=3(1)+b
4=3+b
1=b

Now take m = 3 and b = 1 and write your
equation in slope-intercept form:

y=3x+1

Directions: Write the equation of the line using the given information. Show work.

A. Passes through (2, 4); slope of 3

Answer:




Answer:

1
B. Passes through (-5,8); m= 3

C. Passes through (0,0); m=-4 Answer:

D. Passes through (5, 1) and (3, 0) Answer:

E. Passes though (-2, 3) and (-2, -1) Answer:



Stem-Leaf Plots

Example: Create a Stem and Leaf plot for the following temperatures (in
degrees). 63,63, 70,72,74,82,86,95,101
High Temperature
in Oswego (in°F)
Stem Leaf
: This shows
;LTEE? stands 5 34517 B3 twdica
7 024
8 25
;::';5 stands |9 5-1—' This shows 95
10 1
Key: 6 /3 means 63 °F

Directions: Create a stem and leaf plot, with a key, for each set of data.

A. Data: 12,13, 20, 21, 25, 25, 28, 34, 36, B. Data: 45,10, 79, 33, 15, 30, 26, 49,
39, 53, 54, 54, 54, 56, 62, 65, 66, 53,11,28,54,42,77,33,11,
66, 67, 68, 80, 83, 85, 98 36,84, 58,27,47,21, 43,31,

19,37, 45,23,71,33



Measures of Central Tendencies

I“Mean i Mode 3

e o m“w“ The mode is the mobt iiiﬁﬁmﬁii
‘mean is the average i B e
Ziged Median §rmemrd Range
bl - Count how many there are of Th!mn?ut
Add all of the valuss u:dlui.nngmupufnumhm bl M“hmhwm
together 1o find the tatal Ploce oll of the L I 3LL55759 I highest values in a group of
[Ue5e5+beB+8 = 36 | i Sl numbers -
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36+b6=56 walue
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find the mean of those two g The r )
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Directions: Find the mean, median, mode, and range for each. Show work.

A 11,10,12,12,9,10,14,12,9

Mean:

Median:

Mode:

Range:

B. Stem | Leaf Mean:
1 0 3 6 :

2 [1 67 8 Median:
1

Range:



